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Figure S-1Monthly averaged $\theta$ vertical profile at aggregated LCZ grids
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7T T
1400 —— TKEACM2+BEP || 1400 —— TKEACM2+BEP || 1400 —— TKEACM24BEP || 1400 —— TKE-ACM2+BEP
—— TKE-ACM2+Bulk —— TKE-ACM2+Bulk —— TKE-ACM2+Bulk —— TKE-ACM2+Bulk
1200 —— Boulac+BEP 1200 —— Boulac+BEP 1200 —— Boulac+BEP 1200 —— Boulac+BEP
—— Boulac+Bulk —— Boulac+Bulk —— Boulac+Bulk —— Boulac+Bulk
1000 1000 1000 1000
= 800 1= 00 1= 800 1= 800
g 2 g g
=600 = 600 = 600 = 600
400 400 100 400
200 200 200 200
p) 0 2 1 ] 0 2 1 s 10 4 6 N 10
N J (m/s U (m/s) U (m/s)
() () 7 6 No.= 3734 (g) LCZ 7 No=0 (h) LCZ 8 No— 5773
T
1400 1400 1400 —— TKEACM2+BEP || 1400 —— TKE-ACM2+BEP
—— TKE-ACM2+Bulk —— TKE-ACM2+Bulk
1200 —— Boulac+BEP 1200 —— Boulac+BEP 1200 —— Boulac+BEP 1200 —— Boulac+BEP
—— Boulac+Bulk Boulac-+Bulk Boulac-+Bulk Boulac+Bulk
1000 1000 1000 1000
= 800 1= 800 |= 800 1= 800
2 = = =
9] ] & &
=< 600 < 600 = 600 = 600
100 100 100 100
200 200 200 200
0 0
3 3 ) 0 10 0 2 1 6 3 10 6 < 10
) U( 1/s) ) U (m s) U (u[{{s) n/
(i) LCZ 9 No.= 1604 (i) LCZ 10 (k) Water cells No.= 13363 (1) Natural c s No— 8705
T
1400 —— TKEACM2+BEP || 1400 —— TKEACMZIBEP|| 1100 —— TKE-ACM2+BEP || 1400 —— TKEACM21 BED
—— TKE-ACM2+Bulk —— TKE-ACM2+Bulk —— TKE-ACM2+Bulk —— TKE-ACM2+Bulk
1200 —— Boulac+BEP 1200 —— Boulac+BEP 1200 —— Boulac+BEP 1200 —— Boulac+BEP
—— Boulac+Bulk —— Boulac+Bulk —— Boulac+Bulk Boulac+Bulk
1000 1000 1000 1000
= 800 1= 200 1= 200 1= 500
= = = =
9]
<600 < 600 = 600 = 600
1400 400 400 100
200 200 200 200
0 0
0 2 6 8 ) 0 10 0 2 4 8 10 ( 10
7 (m/s) m/ﬁ U (m/s) m/s

Figure S-2Monthly averaged $U$ vertical profile at aggregated LCZ grids
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Figure S-3Monthly averaged $U_{10}$ diurnal cycle at aggregated LCZ grids
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Figure S-4Monthly averaged $T_{2}$ diurnal cycle at aggregated LCZ grids
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Figure S-5Monthly averaged $\mathrm{RH} {2}$ diurnal cycle at aggregated LCZ grids

CCH AWS : lat= 22.2011, long= 114.0267, LCZ G (watcr)
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Figure S-6: $U_{10}$ at CCH_AWS station.
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CNAWS059 : lat= 22.4666, long= 114.6166, LLCZ other natural type
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Figure S-7: $U_{10}$ at CNAWS059 station.

CNAWST11 : lat= 22.0003, long= 113.0017, LCZ other natural type
14 A 0OBS
TKE-ACM2+BEP
12 —— TKE-ACM2+Bulk
—— Boulac+BEP
10 —— Boulac+Bulk
s Lo
e S
A A‘A‘ A A
4 ";o l‘,
> Bl
0 f

TR W 21 2t By Pt 2o 2801 Vgt 2m 2720012 O Ve O e B 0% Ve

Time

Qi‘/“() \%X“ %,X\Q% X%g,\rb 2 XA{\% AR \%\60% AT

Figure S-8: $U_{10}$ at CNAWS711 station.

CNAWST12 : lat= 22.01, long= 112.7592, LCZ other natural type
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Figure S-9: $U _{10}$ at CNAWS712 station.




ONAWST13 : lat= 22.48, long= 113.1725, LCZ other natural type
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Figure S-10: $U_{10}$ at CNAWS713 station.

CNAWST15 : lat= 21.8836, long= 113.5753, LCZ G (water)
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Figure S-11: $U_{10}$ at CNAWS715 station.

CNAWST16 : lat= 21.9592, long= 112.85, LCZ other natural type
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Figure S-12: $U_{10}$ at CNAWS716 station.



CNAWST17 : lat= 22.8892, long= 112.8283, LCZ 8
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Figure S-13: $U_{10}$ at CNAWS717 station.

CNAWST19 : lat= 23.1061, long= 113.2578, LCZ 2
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Figure S-14: $U_{10}$ at CNAWS719 station.

GIAWS : lat= 22.2867, long= 114.1103, LCZ G (water)
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Figure S-15: $U_{10}$ at GI_AWS station.




HKA AWS : lat= 22.3094, long= 113.9219, LCZ other natural type
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Figure S-16: $U_{10}$ at HKA_AWS station.

HKO AWS : lat= 22.3036, long= 114.1719, LCZ 4
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Figure S-17: $U_{10}$ at HKO_AWS station.
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Figure S-18: $U_{10}$ at HKS_AWS station.



JKB AWS : lat= 22.3158, long= 114.2556, LCZ 5
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Figure S-19: $U_{10}$ at JKB_AWS station.
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Figure S-20: $U_{10}$ at KP_AWS station.
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Figure S-21: $U_{10}$ at LFS_AWS station.



NP AWS : lat= 22.2944, long= 114.1997, LCZ 1
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Figure S-22: $U_{10}$ at NP_AWS station.
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PLC AWS : lat= 22.4768, long= 114.2351, LCZ other natural type
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Figure S-23: $U_{10}$ at PLC_AWS station.

SC AWS : lat= 22.3458, long= 113.8911, L.CZ G (water)
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Figure S-24: $U_{10}$ at SC_AWS station.
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SE AWS :

lat= 22.3111, long= 114.2108, LCZ 10
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Figure S-25: $U_{10}$ at SE_AWS station.
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SF_AWS : lat= 22.2944, long= 114.1661, LCZ G (water)
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Figure S-26: $U_{10}$ at SF_AWS station.
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Figure S-27: $U_{10}$ at SHA_AWS station.




SHL_AWS : lat= 22.3483, long= 114.0839, LCZ G (watcr)
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Figure S-28: $U_{10}$ at SHL_AWS station.

SHW AWS : lat= 22.3058, long= 113.9792, LCZ G (water)
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Figure S-29: $U_{10}$ at SHW_AWS station.

SKG_AWS : lat= 22.3772, long= 114.2717, LCZ 6
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Figure S-30: $U_{10}$ at SKG_AWS station.



SLW AWS : lat= 22.2911, long= 113.9069, LCZ other natural type
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Figure S-31: $U_{10}$ at SLW_AWS station.

TKL AWS : lat= 22.5306, long= 114.1536, LCZ 6
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Figure S-32: $U_{10}$ at TKL_AWS station.
TMT AWS : lat= 22.3297, long= 113.9667, LCZ G (water)
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Figure S-33: $U_{10}$ at TMT_AWS station.




TO_AWS : lat= 22.2531, long= 113.8536, LCZ G (watcr)

4 A OBS
AAA TKE-ACM2+BEP
Y —— TKE-ACM2+Bulk
15 Boulac+BEP
A, —— DBoulac+Bulk
—
w
=
£10
=
3
=
5
0

ARty 2yt 21 2y 2t 21 Bt 287207 303 O 02 Ve Ve P e O O 09 A0 Ve ke Ve Ve e AT
Time

Figure S-34: $U_{10}$ at TO_AWS station.

TUN_AWS : lat= 22.3922, long= 113.9742, LCZ 4
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Figure S-35: $U_{10}$ at TUN_AWS station.
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Figure S-36: $U_{10}$ at WGL_AWS station.



CCH_AWS : lat= 22.2011, long= 114.0267, LCZ G (water)
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Figure S-37: $T_{2}$ at CCH_AWS station.
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Figure S-38: $T_{2}$ at CNAWSO059 station.
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CNAWSTIL : lat= 22.0003, long= 113.0017, LCZ other natural type
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Figure S-39: $T_{2}$ at CNAWS711 station.
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CNAWSTI2 : lat= 22.01, long= 112.7592, LCZ other natural type

A 0OBS
40.0 TKE-ACM2+BEP
—— TKE-ACM2+Bulk
37.5 — Boulac+BEP
—— Boulac+Bulk
—35.0
&)
©32.5
£30.0
27.5
25.0
22.5 -
PP — g ; T TR
AR 2 Pt Py 2 2t B 20 Vet 25 - 30 e D Ve s Ve Ve M Ve O%e e 0 A e e M e AT

Time

Figure S-40: $T_{2}$ at CNAWS712 station.
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Figure S-41: $T {2}$ at CNAWS713 station.

CNAWST15 : lat= 21.8836, long= 113.5753, LCZ G (water)
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Figure S-42: $T_{2}$ at CNAWS715 station.




CNAWSTI6 : lat= 21.9592, long= 112.85, LCZ other natural type
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Figure S-43: $T_{2}$ at CNAWS716 station.
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Figure S-44: $T_{2}$ at CNAWS717 station.
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Figure S-45: $T_{2}$ at CNAWS719 station.




GIAWS : lat= 22.2867, long= 114.1103, LCZ G (water)
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Figure S-46: $T_{2}$ at GI_AWS station.
- HKA AWS : lat= 22.3094, long= 113.9219, LCZ other natural type
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Figure S-47: $T_{2}$ at HKA_AWS station.

HKO AWS : lat= 22.3036, long= 114.1719, LCZ 4
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Figure S-48: $T_{2}$ at HKO_AWS station.
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HEKS_AWS : lat= 22.2483, long=

114.1708, LCZ 4
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Figure S-49: $T_{2}$ at HKS_AWS station.

JKB AWS : lat= 22.3158, long= 114.2556, LCZ 5
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Figure S-50: $T_{2}$ at JKB_AWS station.
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Figure S-51: $T _{2}$ at KP_AWS station.




LFS AWS : lat= 22.4706, long= 113.9811, LCZ 8
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Figure S-52: $T {2}$ at LFS_AWS station.

NP AWS : lat= 22.2944 long= 114.1997, LCZ 1
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Figure S-53: $T_{2}$ at NP_AWS station.

PLC AWS : lat= 22.4768, long= 114.2351, LCZ other natural type
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Figure S-54: $T {2}$ at PLC_AWS station.



SC_AWS : lat= 22.3458, long= 113.8911, LCZ G (watcr)
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Figure S-55: $T_{2}$ at SC_AWS station.
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Figure S-56: $T_{2}$ at SE_AWS station.

SF_AWS : lat= 22.2944 long= 114.1661, LCZ G (water)
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Figure S-57: $T_{2}$ at SF_AWS station.
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SHA AWS : lat= 22.4031, long= 114.2086, L.CZ 8
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Figure S-58: $T_{2}$ at SHA_AWS station.

SHL_AWS : lat= 22.3483, long= 114.0839, LCZ G (watcr)
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Figure S-59: $T_{2}$ at SHL_AWS station.
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Figure S-60: $T_{2}$ at SHW_AWS station.




SKG AWS : lat= 22.3772, long= 114.2717, LCZ 6
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Figure S-61: $T_{2}$ at SKG_AWS station.

SLW_AWS : lat= 22.2911, long= 113.9069, LCZ other natural type
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Figure S-62: $T_{2}$ at SLW_AWS station.
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Figure S-63: $T_{2}$ at TKL_AWS station.
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TMT AWS : lat= 22.3297, long= 113.9667, LCZ G (water)
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Figure S-64: $T_{2}$ at TMT_AWS station.
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Figure S-65: $T {2}$ at TO_AWS station.
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Figure S-66: $T_{2}$ at TUN_AWS station.



WGL AWS : lat= 22.1836, long= 114.3006, LCZ G (water)
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Figure S-67: $T_{2}$ at WGL_AWS station.
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Figure S-68: $RH_{2}$ at CCH_AWS station.
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Figure S-69: $RH_{2}$ at CNAWS059 station.




CNAWST11 : lat= 22 0003, ‘1011g 113.0017, L.CZ otheI natural type
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Figure S-70: $RH_{2}$ at CNAWS711 station.
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Figure S-71: $RH_{2}$ at CNAWS712 station.
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Figure S-72: $RH_{2}$ at CNAWS713 station.




CNAWS715 : lat= 21.8836, long= 1135753 LCZ G (water)
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Figure S-73: $RH_{2}$ at CNAWS715 station.
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Figure S-74: $RH_{2}$ at CNAWS716 station.
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Figure S-75: $RH_{2}$ at CNAWS717 station.
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Figure S-76: $RH_{2}$ at CNAWS719 station.

GI AWS : lat= 22.2867, long= 114. 1103, LCZ G (water)
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Figure S-77: $RH_{2}$ at GI_AWS station.
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Figure S-78: $RH_{2}$ at HKA_AWS station.
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Figure S-79: $RH_{2}$ at HKO_AWS station.
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Figure S-80: $RH_{2}$ at HKS_AWS station.
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Figure S-81: $RH_{2}$ at JKB_AWS station.
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Figure S-82: $RH_{2}$ at KP_AWS station.
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Figure S-83: $RH_{2}$ at LFS_AWS station.
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Figure S-84: $RH_{2}$ at NP_AWS station.
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Figure S-85: $RH_{2}$ at PLC_AWS station.

SC AWS : lat= 22.3458, long= 11389111 LCZ G (water)
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Figure S-86: $RH_{2}$ at SC_AWS station.
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Figure S-87: $RH_{2}$ at SE_AWS station.



SF_AWS : lat= 22.2944, long— 1141661, LCZ G (water)
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Figure S-88: $RH_{2}$ at SF_AWS station.
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Figure S-89: $RH_{2}$ at SHA_AWS station.
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Figure S-90: $RH_{2}$ at SHL_AWS station.
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Figure S-91: $RH_{2}$ at SHW_AWS station.
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Figure S-92: $RH_{2}$ at SKG_AWS station.

SLW_AWS : lat= 22.2911, long= 113.9069, LCZ other natural t)_/pc
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Figure S-93: $RH_{2}$ at SLW_AWS station.
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Figure S-94: $RH_{2}$ at TKL_AWS station.
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Figure S-95: $RH_{2}$ at TMT_AWS station.
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TO_AWS : lat= 22.2531, long= 113.8536, LCZ G (water)
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Figure S-96: $RH_{2}$ at TO_AWS station.
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Figure S-97: $RH_{2}$ at TUN_AWS station.

WGL AWS : lat= 22.1836, long— 114 3006 LCZ G (water)
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Figure S-98: $RH_{2}$ at WGL_AWS station.





